
���������	������ �� 	
���

� �� ���� ����

��� ���
� �������

�� ��� ����	��
��
	 �	����
	�� ��� �	��� ��
 ���
�������	��� ���� ���� �����
��� �	���  ���� ��� ����
��� !����	�����∀ ����� ��
#∃ %�� 
�
�� ��� ������
���� �����
	�� ��� 	�
�����	
 �� ## %�� 
�
��
&�� 	�
��� ���∀ ��
������
∋�������
 ���

��� ����� �	
���
 
���� ���
��


����� 
	� ���� ������
��� ��� ��
��
 ��
����
��
��
�� ���
� ��
����
 ���	
� 
����
! 
�����
 
�� �
 ���
�

�����
 ∀����
	
��
 
����
���� �	
����
�

#
 ��� ∃���	
�� �����
 
��
����
 %�	������ &�∋��() ��� (�∗
��+�

�
! ����
 ,�����
	��
���������−�(���
�./�����
��� 
����
� 0�
 1/���
�������
������� �
� 
����� ��� �
�	
 
��������
���� ��� ��

 

������ %� ��� %2����

2������

.���� ��
	��� ��
��� �����
�
���� %2���� ��+�

�
 ��

,�3�� 4���
! 5�

��� %������
	
� 5	��� 6	���	

� �	
�� 
��
� 7���� ����
 ���
� 7� 
��
 �	����	
 
���
 %���� �� 

������! ��� ��
 ��
�
 
�� �	 
�����	� ������ %� ��� ,�3�� 4� 
��
 	
��
�
� ��� +/����� 
�����
��� 8�
���
��

2������

.�����
 9�
��� &9�����
��
)
��
������
! �	�� 5�

��� %�� 
���� ������ 
��� �������� ���
��
��������
 6��
���

�

�	� �	��
�:��! ��� ��


���� 3�+���
 �
 ��
 0
�
���� 
�	
�

����
 �
�22 ��
 ./� 
����
�

#
 ��� 9����
 ∃����
�
���
 


� ��+����� ��� ;;< 1�=�	��
&����>) ��	�� 	� �( ��� ��

;;< ?���
���

 &�∋��∋)�
≅����
� ��� ?���
���

��

2���
��

 ��� ��� ��Α 0�����
�
 ,	
2��
��
 ���� ��
����
 

����
 ��
 ��+����
 
�
� 	
�
��� ∀����
	
� �
 1�=�	��
���� ��
 ���
�����	��� 
���
!

���	�
 ��� 1�=�	���� �����

��� ��+�
 ��
��
� 7�
 ��− �

��� +�� 3����� 
� ��+�
 +��
��
 ∀�����	
�

������

∀�� ��
 1�=�	����
 +�����
��� Β�����
��	
�
������ �

��� +�� ∀��
�� �	� ����
�
≅	
��
� �	��� �����
 
��

������ ����
 ����
��
 	
�
���
��	
�
 3�+���
 
��� Χ/� 
�	
��
 
��� ��
 �/�����
 �� 
����
� ;;<1 <��� 5/���


∀������ ∆7��
�� %��� ��� �	�
������
 ����� ≅�

 +�� 
	

�����
 ��
 �/
�����
 
��� 
����
 �:

��
! +��� ��
 
� 
�/����� �����Ε

�	� �������
�� ��
��

�/����
 ��� ;;< ?���
���


�� %�

��������� &�− ���)
����
 ��
 %2����
������ �	

7�	�������� 
����
� #
 ���
∃����
��
���� ��� �
 
���
���� ����� +����� �������!
��

 ��� ?���
���

�� ����

%2����
����
 �	� �	

���

�:

�
� ��� ��
�� ?���
 
���

�� �	
����+�

 �
� 3� 
���� 
���� �	 ����
�
�

#
 ��� 1�
��
���� 
���� �/�
��
 ;∃ ?�����	�
���� &����>)
��	�� �� ���∗Φ ��� ����
 ��

%∃ ;/��
��
 &Γ�∋Φ) ��
 ��� 


�
� +�������
 %2��� �
� 6� 
+�

�
 ��� ?�����	�
������
���
�
 �����! +��� ��� .��
 

�
������ +��� ��
������� #�
Χ���� ��
�� ,��������� �:

��
�
 ������
 
��� ��
��� ���� 
��� �
� +����
�

7�� ;/��
��� ����
 �
 ��

���� ∀����
	
��
 ��� 8/�� 
�	
�� �+�� 
��� 
����
 ���� 
����
 �	
��
�� ��������! �� 
��
 
��� ���� ��� ����� 3/
�
 
��
 Γ�� ,��������� ���� ;� 
�����
�+����
 ;%∃ 6�����
 
��
 ����� ������� �	
 ��� �� 
����� 7�
 
���� �	�� ;∃? 
��


�����
�/���� ?�����
%������� 
� 	
� ���
�� ��

���� �/� ��
 ������� �����
�	� ��
�
 �	���
 ,�

���
∆,	� 
���� ��������
�Ε

��� (��������� ���� ���� 
��
�������
 ������
� ��!! �� ∀�#∃��
 % �
&∋� (� �∃��∋
�
����� )!
������∋
!� ∗��+���,

)∗&&+,

����	��
��
	∀ ��	��! �� ���� ;%∃
�	
���� Η %2∃�� %���������! ;;<
;	����
��
 Η ;%6 0�
��
��
� %�

 
���! �− ���� %%∃ 8�	���
��
 Η
;;< ;	����
��
! �−�∗Φ ����
��;;∃ ∀�� 1����
���� Η %2∃��
�:

�
��
! �> ���� %2∃�� %����� 
���� Η %< %�����
����	��
 �	

� ���∀ ��	��! �(
���� ;;< 0���
��
��
 Η ;;Χ
���
��	
�
! ;;< 1�=�	�� 8��� Η
;;< ?���
���

! �� ���� �� ;;<
≅�
��
 Η ;%∃ ,	
2��
��
� %�

 
���! �− ���� ;;< ?���
���

 Η %∃
7�	���������
�	���
��
	 −�� .∀ ��	��! �Α�∗Φ ����
;∃ 8����
�	�� Η ;%∃ ∀����
��
!
���∗Φ ���� ;∃ ?�����	�
���� Η %∃
;/��
��
! ∋Φ ���� ;%∃ ,	
2��
 
��
 ## Η ;%∃ 6�����
��
�
∋���� 
��
	 −�� /∀ ��	��! �( ����
��;;∃ ∀�� 1����
���� ��∃� ## Η
∃Χ1 ?���3����
��
! ;%∃ 6�����
 
��
 ## Η ;;< ?���
���

 ##! ∃Χ1
9����
���� ## Η ;;< ∀����
����!
%2��� ≅��� ��� %���� Η %∃ 6�����
�
%�

���! �Φ ���� ∃�1 %�
�����
 
��
 Η %%∃ %��:
�/
����! ∃Χ1
9����
���� ## Η ;∃ <��������

0,1%+&

����	��
��
	∀ ��	��! �∗�∗Φ ����
;;< ∀��������� Η ∀�

�
��
 Η ;;<
6
���
���! ;;6 %/

�
 ## Η %∃
∀:���
��
 ##! �Α ���� ;;< 1/� 
��
����� ��ΑΓ Η 75. %2����	
�
%�	������� %�

���! �� ���� ;;<
1/���
����� ��ΑΓ Η ,�����
	����
%� ###�
����	��
 �	

� ���∀ ��	��! �Γ
���� ;%∃ 9�����
��
 ### Η ;%∃
0
�
��
! �� ���� ;6 ∀������� Η
∃�1 %�
�����
��
 ##� %�

���! ��
���� %∃ ������� Η 6�����
��
 ##�
�	���
��
	 −�� .∀ ��	��! �−�∗Φ
���� ;∃ 7��

�����
 Η ∃�1 %�
��� 
��
��
 ###! �Α ���� ;%∃ 8�������� Η
;%∃ %�
�����
��
! �(�∗Φ ���� ;6
%��:����� Η %∃ ∀:���
��
 ###�
%�

���! �� ���� ;;< �/���
��

Η ;%∃ 8���������
∋���� 
��
	 −�� /∀ ��	��! �Α ����
;;< 1/���
����� ��ΑΓ ## Η ;%∃
9:��
��
! �( ���� ;; .��
������ 
���
���� Η ;%∃ 6�����
��
 ###!
���∗Φ ���� ∃Χ1 %�������� Η
%2∃��� ≅��� �� %��:
�	���

2%&−+& %#3

����	��
 �	

� ���∀ ��	��! ���∗Φ
���� ;%∃ ,	
2��
��
 Η ;;< 8�	� 
��
��
! �∗ ���� ;%∃ ,	
2��
��
 Η
;%6 1�	������! �∗��> ���� %∃
∀:���
��
 Η ;;< ∀����
����! �−
���� %6 7��=��
��
 Η ;;< 8�	� 
��
��
�
∋���� 
��
	 −�� /∀ ��	��! �−�∗Φ
���� ∃�1 %�
�����
��
 Η ∃Χ1
%��������! %∃ 6����
���� Η
∃Χ1 9����
����! ;%∃ 6����
�	 Η
;; ����	��! ;;< ?���
���

 Η %∃
∀:���
��
 ##�

)∗��!+& %#3

����	��
 �	

� ���∀ ��	��! �∋�∗Φ
���� ∃�1 %�
�����
��
 Η %∃ 0���
 
���
! �∗ ���� ;;< ,�	

���� Η
;%6 1�
��	 ����! �−�∗Φ ���� ∃�1
%�
�����
��
 Η ;;6 �
���������
 
���� 7�

3����! �>�∗Φ ���� %<
∀��� Η ;%∃ 9��������
�	���
��
	 −�� .∀ ��	��! �− ����
;;< 7����
��
 Η ;%∃ 6�����
��
!
;;< 8�	���
��
 Η %�∃66 ≅��� 
���

! �>�∗Φ ���� ∃�∀ <��
���� 
≅��������� Η %%∃ %��:
�/
 
����! �>�−> ���� ;∃ ?�����	�
 
���� Η ;;< ∀����
�����

∋+4�,5 ��!61,461��

0,1%+&

∋���� 
 �	

�∀ %�

���! �Α ����
;;< ?���
���

 Η ;;< 0��
��	 

�
! %Χ 6����
��
 Η %%∃ %��:
 
�/
����! �( ���� ;∃ ?�����	�
 
���� Η ;;< ∀����
�����

!+,,+&
∋���� 
 �	

�∀ ��	��! �(�∗Φ ����
≅%∃ %��:����� Η <∃5� 6�/
���

##! �� ���� ;;< ∀����
���� ## Η
;;Χ �����
�
����! %Χ %���
�����
 Η
;;< 1�=�	�� 8��� ##! ���∗Φ ����
;∃ <������� ## Η <∃5� 6�/
����
5���
��
	 �	��∀ ��	��! �Γ ���� %Χ
6����
��
 Η ��;;∃ ∀�� 1����
 
���� ###! �( ���� ;%∃ ≅������ Η
;∃ 9:��
! �� ���� ;; ����	�� Η
;∃ ?�����	�
���� ##! ���∗Φ ����
∃�1 %�������� Η %Χ 6����
��
�
5���
 �	

� 1 �	��∀ ��	��! �Γ ����
;∃ <������� ### Η ;;Χ �����
� 

���� ###! �Α ���� ≅%∃ %��:�����
## Η ;∃ ?�����	�
���� ###! �(�∗Φ
���� %∃ 6/����
��
 Η ;∃ ,�	�
 
�/��! ���∗Φ ���� ;∃ <������� #∃
Η ;;Χ �����
�
���� ###�
5���
 �	

� ∋ �	��∀ ��	��! �> ����
;%∃ ≅������ ## Η ∃�1 %��������
###! �Γ ���� ;∃ ?�����	�
���� #∃ Η
;;6 �
���������
���� 7�

 
3���� ##! ∃�1 %�������� ## Η ;∃
<������� ∃! �Α ���� ;∃ 0���	 

�
 Η ∃�1 ,����� ##! �( ���� ;;<
?���
���

 ### Η ;;Χ �����
�
����
#∃�
5���
 �	

� � �	��∀ ��	��! �Α ����
;%∃ 9��
�	 ## Η ;;Χ �����
�
����
∃! %Χ 6����
��
 ## Η ;∃ 9:��
 ##!
�Α�∗Φ ���� ;∃ ,�	�
�/�� ## Η
;;< ∀����
���� #∃�
5���
 �	

� � �	�� (
�∀ ��	��! �Γ
���� ∃�1 %�������� #∃ Η %Χ 6� 
���
��
 ###! ;; ����	�� ### Η %Χ
0���
��
! �(�∗Φ ���� %∃ 6/�� 
��
��
 ## Η ;∃ ?�����	�
���� ∃! ��
���� ;; ����	�� ### Η ;;< 0��
 
��	
�
 ###�
5���
 �	

� � �	�� 6�
�∀ ��	��!
�(�∗Φ ���� ;;6 �
���������
 
���� 7�

3���� ### Η ;;< ∀����
 
���� ∃�

2%&−+&

∋���� 
 �	

�∀ ��	��! �Φ ����
≅%∃ %��:����� Η %∃ ∀����
 
���

! �Φ�∗Φ ���� ;;< ∀����
����
## Η %%∃ %��:
�/
����! �∗�∗Φ
���� %Χ %���
�����
 Η ;;< 0��
 
��	
�
 ##! �>�∗Φ ���� ;∃ ?��� 
��	�
���� Η ;%∃ Χ��	��

����! �Γ
���� %%∃ %��:
�/
���� Η <∃5�
6�/
��� ##�
5���
��
	 &���∀ ��	��! �Φ�∗Φ ����
∃�1 %�������� ## Η ;;6 �
��� 
������
���� 7�

3����! ���∗Φ
���� ;; ����	�� ## Η ;∃ ?��� 
��	�
���� ##! �∗�∗Φ ���� ;∃ <��� 
���� Η ;%∃ 9��
�	! �− ���� %Χ 6� 
���
��
 Η %Χ 0���
��
�
5���
 �	

� 1 &���∀ ��	��! ���∗Φ
���� ;∃ <������� ## Η ;∃ ,�	�
 
�/��! �∗�∗Φ ���� ;;< ?���
���


## Η ;;< 0��
��	
�
 ###! �−�∗Φ
���� %∃ 6/����
��
 Η ��;;∃ ∀��
1����
����! �> ���� ∃�1 ,����� Η
;∃ 0���	
�
�
5���
 �	

� ∋ &���∀ ��	��! �Φ�∗Φ
���� ∃�1 %�������� ### Η ;∃
<������� ###! �− ���� ;%∃ ≅��� 
��� Η %∃ 6/����
��
 ##�
5���
 �	

� � &���∀ %��
���!
���∗Φ ���� ;∃ <������� #∃ Η ∃�1
,����� ##! �∗�∗Φ ���� ;; ����	��
### Η ≅%∃ %��:����� ###! �−�∗Φ
���� %∃ 6/����
��
 ### Η ;∃ ?��� 
��	�
���� ###�
5���
 �	

� � &���∀ ��	��! ��∗Φ
���� ;;< ∀����
���� #∃ Η ;%∃
9��
�	 ##! �∗�∗Φ ���� ;;< ?���
 
���

 ### Η ;;6 �
���������
 
���� 7�

3���� ###! �− ���� %Χ
6����
��
 ### Η %Χ 0���
��
 ##

)∗��!+&
∋���� 
 �	

� 1∀ ��	��! ���∗Φ ����
%%∃ %��:
�/
���� ## Η ;;<
0��
��	
�
! �− ���� ∃�∀ <��
 
���� ≅��������� ## Η %∃ ��������� 
?�������
∋���� 
 �	

� ∋∀ ��	��! �Φ ����
∃�∀ <��
���� ≅��������� #∃ Η ;∃
<�������! �∋�∗Φ ���� �� ;;<
�/���
 Η ≅%∃ %��:�����! �∗
���� %∃ 6/����
��
 Η ∃�∀ <��
 
���� ≅��������� ###�

&1�!6%�!��%7
−����� )����∀ ��	��! �Φ ���� ;∃
0���	
�
 Η ;;< 0��
��	
�
!
�� ���� %∃ 6/����
��
 Η ∃��1 ,� 
�����
−����� &���∀ ��	��! �� ����
��;;∃ ∀�� 1����
���� Η ;;<
∀����
����! �∗�∗Φ ���� ;;< ?� 
��
���

 Η ;∃ <������� ##�

∋���5 1%0 ��+ −,8&+& 7�1��+&

9	� :� )%��� ∋	� ���������� ;
��<

 )=

��
�� 9�����	
∀
#>�.? %�� �� %�����	�

����:�
#� ������
 9���
2��� ��� ��	 
��
��
 %��
�
 ��+����
 ���
;�
����

�

2����� ��
 ∃�� 
��
�
����
��
 ��;;∃ ∀��
1����
���� ��
 ;������
��� 
��
 �	
 �:

�
��
� 7�� 1�� 
��
������ +����
 ��� 8	
��
�	� ����� ���� ��
�����=�
! �� 
�	 �
� ��
 %��� ����
 ��� �:
 

�
��� 
��+�
���� 7�� 6�
��
�����
 	
��� �
����� ���
��� ���������
 1����
������
%2����

2����� %��
 ≅����
	
� ��� ��� 0Ι 0���
��
���
<���
��2� 9:����

� 7�

��
�� �	���
�
���������

��

��
 ��� 1����
������
�
�22 �	 ����
 6	

��
 �
� 

������
� ∀��� ��;;∃ �
�
�������
 .������! ��� ���� 
���� ��
 0�
��� �	� 0�

���
�������
 �
�! �
 
��
�
 0�
 
���
 &>�Φ) 
��� 	
��
������
�

��
�������


������
 !���
����
��� ������������

&+:)� 7�
 8�

�
 	� ��� ��� 
��
 �	�
����
2����� ���� �
 ���
� .��

� <��+ 
��� �/
�
��


������
 �
 ����� %2�� 
��
������ ;∃ ,�	�
�/��
&∋−�Γ) ��� �
 ����
����� 
���


� �	� +�� ��
������! �	


���� 
��� ����
 ���� �����
 
�	���
��
 ��
� Χ/� ��
 %∃
6/����
��
 &∋∗���) 	
� ���
∆7�����Ε ��
 ;∃ ?�����	�
����
&∋Φ��Φ) ���� �
 ������
 ��
��	����
 %2������ ���
��� 	�
��� ������ <��
��� #
 ��� �	 

���	������� ����
��
 
��� ���
;;< 0��
��	
�
 &∋∗��) 	
�
<������� ### &∋−��Φ)�

7�� %∃ 6/����
��
 ��+�����
	� �(�∗Φ ��� ��� ,�	�
 
�/����� 7���� �:

�
 ��� 6�
 
�� ��� ��
�� %��� ����
 ����
�����
 	
� ��
��� 
����
 
���� ��� 8�
�2������� �
� 

����

���
� 7�

 
��� ���
0
������ 
��� %����
 �����

�/

�
! ��� ���� ��
���� �� 
��
! ��

 
�� 	
��
�
� ����

��
 ��
����
��
������
 ∀�� 
��
���� ### 	
��+����� ��� −��
��
 ./�����
 ����
� %�� �/
 

�
 �
 6/����
��
 ��+�

 �	�
��� 9	� 
��
! �	��� �	�� ��

∃���	
��
����� ������
 ���=
	����2�� +���

#
�+�
���
 ����
 
��� ���
6/����
��� �	
 ��� ∀�����
����
��� 4��
 1	

��	�� ���
�����!
��
 ��� ��
 �	 ���
�� ���� 
2	
�� �������
�
 ��+�
 ����
��
 ��
� Α�Α ∀���
� ��+�����
+	���� 7�� %�/���
 ��� 6/�� 
��
��� ;�	22� 
�
� 
��� +��
��� %2����

2����� 9������
.��	� &�∗��)! 7������ %���	=
&���Φ)! ∀��
� Χ�
���� &��−)
	
� �+� Χ�
���� &Γ�−)� ∀��

��
 ,�	�
�/����
 �
/2���

;����
 ∀��+��� &���)! ;�� 
��
 ∀����� &Γ�∗) 	
� 5/���

6�
��
�� &Γ�∋) 
�����
 �

���� 1��
�	
��
 ��� ∃���	
��
�
�

7�
� ����� 8/���	
��
�� 
��
� ��� �+�� %����
! ���� �
 
�
�
������
 	
� 
	� ��
��
,��������� �
� ��� ∆�+����Ε
��
 ≅%∃ %��:����� +�����
�	�/�� �� 8�

�
 	� ��

.��

�
������� 7���� 2�������� 
��
 
��� ��� ≅�����
� �����
&(�−)! �
��ϑ Χ������ &(�∗)
	
� ����
 ≅����� &Α�−) �� 

�
���
 ��� ����	�� �	� ��

�������
 ��
����
�
� �����

	� �Α ��� ����� 
	
 ���
��� ∆7�����
Ε ��
 ;∃ ?��� 
��	�
���� ��
 ;���! ��
 
���
���
�
 �	
������	
� ����	��

��

! +�

 �
 
��
� ����


<��
��
 �	� ��
 �	�
���� �� 
�����
 +���� 7�� 8/���	
��
 
����
� ���� ��� ���� ,������� 
��
 	
� �+�� %����
 ��
���� 
��
 �	
� ��� 9��
� %������
&Α��) 	
� 0�
�����

 �����
≅��� &Α�∗) 
����
 ��� ������ 
�����
��
 ����	�� �	� ��
 ��
 
����
 ��
����
�
�

#
 ��� .���
���� ������
 	�
�Γ ��� ��� ��
 %2������	
��

6����
��
 &∋∋�Γ) 	
� ���
��;;∃ ∀�� 1����
���� ###
&∋Φ��Φ) ��� ;������
�+����
	
� ��� 7����� �	���
�
���� #

��� 8	
�� �����
 ����� ;���

����
 ;�����
+����� ;;6
�
���������
����Κ7�

3����
����� ,���������
 ��

����! ���
1����
������ ����
 �	���
�	�� �
 ����	�� ��
 ./�����
�
���� �
����
 %2���� ����
 
��
������
 ���� �/� 
��� �
�
���� 

��
� #� ∃���	
��

2��� �� 
������
 ��� 6����
��� �
�22
��� ��Α ��� ?�����
��

#� %2��� ;%∃ ≅������
&∗�∋∗) Η ;∃ 9:��
 &Γ�∋∋) 
����
��� ��
����
����� �� ������ 
2	
��� ∃�������
 ��� 9:��
��

����! +��� ��
�
 ��� .��

�
 
������ 
� �	� +�� 
������ 6� 
+�

�
 ��� ≅��������! �:

 
��
 ��� 
��� �	��
��
� 
���
��
� ����������
� <��
�� �	
 
����
�
! �/

��
 ��

 ����
�	� ∀��
2��� ����
 �����
� 

���� ## 
��� +������ �	
���
��
�����
� ��


�����
�/����
≅��
�� �/��� ������� �	���
∆6���
 9:��
 +����
 +�� �	�
3���
 Χ��� 
��� ��
��� ��� 
=�
! ���� �
 +��� ��
� �����
,	

�Ε 7�
 +�� �
 �	�� 
���

�
 ��� ∃���	
��! ��
 9:��

��� ��Γ ��� ?�����
� ��������

&�������
  	�� �� ��� 1�5�	

� 
���� 	���
  �	��	����
��
�������
 −.� /.!�!��
�� 
�∋� �� ∋���� ∃���
∋� ��  �� !����� 0∋
�&� % )�����!
���� 0
!1

&+:)� 7�� ;;< ∀����
����
&�Φ��() 
���� �
 ��� ∀�����
�� 
�� ������� �	� ��� ��
��
 �� 

����
2����� 7��
� �����������
%��	����
 �	

 
��� ��� ��

 

����� �
��

�
 
���
� �	 

�������
� Α�∋ �/����
 ���
0
������ ����
 ?���3����
��

	
� 
��
��
 �� 0
�� ��
 

��� ��� �����
 9�
��
 ���

�	�� ��� 8�
�2������� �
�
�	���+���
�
� 7� 
����


��� %2���� ����
 �+�� ����� 
������ ;���
 �
! ���� �	��
∀����
	
��
 ��� %2����
 
��


������
! ����
 ��� �

	
��� 
������
 ��
��
��


����
 �	 ����
 ����� 7�
����
����� 
	
 3���� �	
��� 9�	��
	� �( ��� ������
 ��� ∀����
 
������ �
 9����
���� &∋����)
�	� ��
 ;������
������
! ���

�� �
 ��� ∃���	
�� ��� −��
	
�������
 +���
� ���� ���� 
������ 2�

� ��� ��
�
 ��
���
����
 	
� 
�� �/���
 
��� ��
0
�� /��� ��
�
 �	
�� ���	 

�
� 0�
 ∀��
2��� �������� �	�����
��� %∃ 6�����
! ��� ��
 9�� 
��
������
 ��
 (�( ����������

∀�
����� ∀����� +����
 ���
∀����
������ 
��� ∀�� 1����
 
����! +� ��� ��;;∃ ∆�+����Ε
&�Α��Α) 	� �( ��� ��
 ∃�1
?���3����
��
 &��∋>) ��2 
��
��� ∃�
 ��� ;������

��	� 
���
 �	
 ��
���
! 
�����
 ���
1����
������ ���
�
 %2���
����
����� ������
���
� 7���
�	� ���� ����
 
�� ��� ������� 
���
 �	�
����	
�
2�������

�	 ���2��
� 7�
 ��
������
�	�� ∃����


2������ ����	

∀	��� ∆Χ�
� 
����! ��

 %����

�/���� �
 ����	� �
� 	
� %� 
��
���
 ∀	�� +���
 ��
��
��

������
 ∃������	
� �
 ��� 

�� %��
�
 
���� ���� ��
�� 

���� +����
 ��

�Ε

7�

��� ��+�

 ���
��


����� 3/
�
� ����
 6��� 
��
 ��� ��Α! ��+��� 
�� 
	�

	� ���� %2����� �	
 ���
%�����	�
����	
� �	� ∃���/ 

�	
� ������ ,	
 �����
 ���
∀����
������ 
��/�����! ��


��� 5����
��� 
���� �	 �	
���

�����
! ��
 ��
�
 
�� 	
���

������
 ��
��
��
 
����
��
��� �����
 ���	��
 �:
 

�
�

#
 ��� ∀�����
���

� ����
��	�� �� ���∗Φ ��� ��� %2�� 
��
�����
	
� �+�
���
 ���
;∃ <������� ## &∋��>) 	
�
��� <∃5� 6�/
��� &∋>�∗)
/��� ��� ∀/�
�� 7���� 
2�����
��
� ����
 �/� ��
 ;������
�/� 
���! ��� �
 ��� 8/���	
�� ���
�/
� %����
 ��
� /�����	��
 
�� ∃��
����	
� ����

7�� <��������� ����
 
���

��� ��
�� �+�
���
����
����
 0
�� ��� ∃���	
�� +�� 
��� ����
��
 	
� 
�������
 �

��� 8/���	
�� ��
��� ���� %�� 
��� Χ��
� ������� &>��)! 5/� 
��
 ������� &−�∋)! 7����� ?���
&∗�∋) 	
� �
����
 %�����
&−��) +	

��
 ����� ��
�
 
���
 �	 /�����	��
�

∋�� ������ �� 
�	� �� ∋���≅�
��

��
�������
 /�
�� 2�����∃��
 ��∋!� 3� �� �����

&+3)� 7�� %��+���
���
 ���
 
���
������
 �� ;���
2��
�
	
� �
 ��
 7�
��
�+�����+�� 
��
 ��� 1�
���	��� +����

�� ≅����
�
�� �� %��
�� 
���
 �
 Χ��	��

���� .
����

/��� ��� ∀/�
� ����
� 7��
%%∃ %2�����
��
 ��
 �	
���� 
��� ��� ;�������2�� ��� ∃���
 

����	
� �	
 ��� �����
���

6���
�� �������
 �/

�
!
+��� ��� �����
 ;��2����	��

�	� ��� %��+���
���
 ��� ��

�����
���
�
 %������
 
���
�	��
���� ����
� 6�
������
+����
 ��� ���
���
�����
��
 

�
 ��	�� &%���� ���∋ ���)
��� ��
 ;���
2��
�
 	
� +�� 
��
 �� %�

��� &%���� �� �Φ
���) ��� ��
 0�
�����	��
 Η
��� ��
�
 �	�� ��� 0
�
���� 
�	
� �
 %%∃ 1�
���	��	2
∋Φ�Φ �����  ��� %��/��� ! 5	 
��
� ! 5	
����
 	
� ������
 
���

�
 ������
�����

� � �����
��

��������� ≅����
	�� ��� 5�����


4�!+ 5�
�� 6�� ((0 �����∃���� +���� ��&∋ 
�+  
� 7��∃8 ��  �� ���∃
� ��!
��� ��  
∃�� 6�� 
!!��

�+ ��� ��� ����∋�� ��� ������ �∋��
!�
�� )
���
 �� 6�� ((0 ∀�#∃��
94� �� −���: 	�
��

C


